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QUIZ 4

1.  
You attach a XREF to a drawing, save, and then go out to lunch.  A co-worker

opens up the drawing being used as a XREF and makes some changes, saves it to

the same location, and then goes home early.  You return from lunch and re

open the drawing you were working on.  You see:




A.  
the same XREF you originally inserted - no change




B.  
the updated XREF




C.  
a blank space where the XREF used to be

D. nothing...your drawing is now corrupted and can not be opened.  


Complain to the boss and get your co-worker fired.


2.  
External references are used instead of inserting a global block because:




A.  
External references keep the size of the file small.

B.  
External references will automatically update whenever the drawing is reopened.




C.  
edits are faster.

D. All of the above
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3.  
The icon shown:




A.  
brings up the XREF dialog box




B.  
binds a XREF




C.  
clips a XREF

D. turns off the XREF frame
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4.  
The icon shown:




A.  
brings up the XREF Manager dialog box




B.  
initiates XCLIP




C.  
binds a XREF

D. initiates XCLIPFRAME


5.  
The menu header used to load an AutoLISP application is:




A.  
TOOLS




B.  
INSERT




C.  
FORMAT

D. FILE


6.  
Select the correct LISP routine:




A.  
(defun c:ze ()(command "{zoom" "e"))




B.  
(defun c:ze (command "zoom" "e"))




C.  
(defun c:ze ()(command zoom e))

D. (defun c:ze ()(command "zoom" "e"))


7.  
The three different ways to draw a thread are:




A.  
BASIC, INTERMEDIATE, AND ADVANCED




B.  
BASIC, DETAILED, AND COMPLEX




C.  
DETAILED, SCHEMATIC, AND SIMPLIFIED

D. SCHEMATIC, SIMPLE, AND BASIC


8.  
You see the following annotation on a drawing:

.250 -20 UNC-2A

.250 stands for:




A.  
nominal diameter




B.  
number of threads per inch




C.  
thread form

D. class of fit


9.  
Instead of using a global block, you can create a link to an external drawing

using an external reference.


(T / F)


10.  
Layer names for external references use the following format; where PLAN is

the file name and WALLS is the layer name:




A.  
PLAN/WALLS




B.  
PLAN$0$WALLS




C.  
PLAN:WALLS

D. PLAN|WALLS


11.  
The higher the class, the tighter the fit…1 is the tightest.
(T / F)


12.  
External thread classes are 1B, 2B, 3B, and internal thread classes are 1A,

2A, and 3A.



(T / F)


13.  
The file extension used on AutoLISP routines is:




A.  
dwg




B.  
txt




C.  
lsp

D. dwt


14.  
You can use a drawing as an external reference even if it is in use by

another user.



(T / F)


15.  
Reverse engineering means:




A.  
creating a drawing from scratch




B.  
drawing everything backwards




C.  
creating a drawing using someone else's idea

D. creating a drawing from a physical object
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16.  
The icon shown




A.  
Brings up the XREF Manager Dialog Box




B.  
Initiates the XCLIP command




C.  
Initiates the XCLIPFRAME command

D. Attaches an XREF
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17.  
The toolbar shown is:




A.  
Reference




B.  
XREF




C.  
Image

D. OLE

18.
Calipers cannot be used to measure the inside of holes.

(T / F)
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19.  
To add hole annotation symbols to your drawing, access symbols here in your

MTEXT dialog box. 

20.
Calipers can not be used to measure the depth of holes.

(T / F)


21.  
You use a special file for starting a new drawing.  This special file has

various items such as drawing units and limits, layers, dimension styles,

already created.  In some cases, there may be blocks already inserted.  This

file has the extension of:




A.  
DWT




B.  
DWG




C.  
DWF

D. DWX


22.  
When mating parts are shown on an assembly drawing, section lining for both

parts are done at the same angle.



(T / F)


23.  
The three methods for assembling parts are:




A.  
SCREWS, BOLTS, AND NAILS




B.  
WELDING, ADHESIVES, AND FASTENERS




C.  
GLUE, SPIT, AND HAIRSPRAY

D. GREASE, GRIME, AND GRIT


24.  
The command to load an AutoLisp routine into AutoCAD is:




A.  
LOAD




B.  
APPLOAD




C.  
LISPLOAD

D. ALOAD

25.
90% of all commercial and industrial fasteners are 1A and 1B.

(T / F)

ANSWERS:

1) B;2) D; 3) A; 4) B; 5) A; 6) B; 7) C; 8) A; 9) T; 10) D; 11) F; 12) F; 13) C; 14) T; 

15) D; 16) C; 17) A; 18) F; 19) B; 20) F; 21) A; 22) F; 23) B; 24) B; 25) F 

Notes:

Q4-6
Q4-5

